®
o a1T5

=3 & T %

QingGong Brand

SR B G iR B DL 5

Usagc instruction of crimpcr for bags made in paper and plastic

Tk g L a4 4

HeBei QingGong sewing machine Co.,Ltd




QG49OO model

AR 4 15535 1h ¥l Bag Feed-In Device |

@ ZITH R ¥/ Multinomial Technical Improvement

@ % 55 El A/ A Wide Range of Speed Adjustment

O 5 WAL hkRE, HMIERE/ Finest Quality in Folding and Operating

O EATFHRRALS., KEMNENOHDIE/ For Folding Bags Made of Plastic,Paper

S
i)

/
o

FEHARSH Technical Specificetions |

ENEE (Folding Width) 35~50mm
EREE (Feed-in Speed) 7~16m/min
BIESRZE  (Voltage/Frenquency) 380V/50HZ

M % (Power) 180W
HgREE  (Weight) 32Kg
f&ﬂigf%} (?Eiﬁ;(ﬂfe) 710x240x370mm




1. Introduction

AR ERIORABHR/OTL, REATNEAPEE, Zuiid s RfE

This is a kind of device that can hem the bag mouth of woven bag, and stitched by sewing machine. Using the device,

MARRERREERE, AR LEHRE. REIAR.

we can remarkably improve packaging fastness, effectively avoid bales off and leaking packages.

FEHASHE Main Technical Parameter

HHiLFEE  Folding Width 35-50mm
£ B Feed-in Speed 7-16m/min
BE/ARE Voltage/Frequency 380V/50HZ
by} & Power 180W
HER Weight 32Kg
MRS (KXTEXH )
Physical dimension (LxWxH) 710X240X370mm
ik ( 0.18kw 380v 50HZ ) g !

. ] Motor (0.18kw 380v 50HZ )
2. Construction (see Figure) o=

RES SR LT T E=
(iptioeal seph ble speed redhucer 2 \%—/
P— SO
Folding Machine for bag mouth

e

C

( — Il /S g Jf Dol
Fmif,ﬂg dioec = SELHLEIERE / ‘ w |
b : |
o |

3. Adjusting Method
(1) GRESTE YA
5 DR AEGE L T R AR B T AR TR A . Wiy RS AR REE
. FERFRENER RS SEREMR, Rz, HERE. HFHBF 5K
HSMEEIMEE -, HER: SRERAH, WEaEH. (LE)
(1) adjusting method of Feed—in speed The speed can be adjusted by turning on/off the
infinitely variable—-speed pulley of the special Motor and Speed Reducer.For example,
tightening the infinitely variable-speed pulley of Motor, and loosening the one of the

Speed Reducer could make the speed faster, whereas, it would be lower.Please keep the
speed consistent with the conveyer.Note, if the speed is not identical, the bag will slope.

(see Figure)
T % A5 1 i 455 Infinitely Variable<speed Pulley

!
&




(2) EEEANDEAR
(2) Conveyer Belt Adjustment
EERI, BHOMBEFRERL (> FaBs, ERFeIEE R, #
BrRNARE, ERTHE. TRERT, KIIERE, FUFEE.
(LB
Along the long hole, move the pulley (portal side) towards the arrow direction. Please loosen the tightened belt,
adjust the elasticity nut of pulley to tighten it.If not tightening the pulley , it would fall off. So pay attention. (See Figure)

o A BRI
pulle-;gﬁ eﬁ%ﬁ?ﬁ%ﬁw nut _/ Tighten bolt :>

(3) P lmEiRE

(3) Flanged Plate Adjustment
PR AR E N R, FrEGMMSERMAR. AT iLRERED, 1§
B EAMraRZ R EIE. (RE)
The adjustment method of flanged plate is various, depend on the bag thickness and loaded goods's
bag rigidity.To insure the bag feeding well, adjust the distance between inner and outer flanged plate
properly. (See Figure)

iR

outer flanged plate

baffle

L

gL 3-5
inner flanged plate

Z A H
feeding bag



1" : =
L S hSE 3

T 1M 7
gl e ey

'z‘-:".‘- =] 23 18] 3 _d‘_i’;.é;:ii'i.. |

Hrinse At e, AFEEE, HFAF50mm (LE)

(4) Folding Machine and Bag Height Adjustment At the top of Folding Machine, keep the bag align,
deliver it horizontally, and fold it about 50mm (see figure)

ripdk L#
The top of Folding Machine

<3
=

SN T ERAR, ERFRERER, &L ABWEFENEER R,
HZBERZERBRAT. (LE) :
5) Bag Mouth Sewing Adjustment If you want adjust the bag mouth hemming width, release
mounting plate bolt, appropriately adjust height adjusting bolt (as shown in the figure), and
locking up the nut and mounting panel bolt.(see Figure)

. T ;m
| [ ==
yi ==
L < ;
R T 55 mm B
< a
% —

bag [ ) _

N T\ mEATER
height adjusting bolt




79 JB-50 UHITE Vertical shatt Industnal Ferrule 1
78 JB-49 TR MER Gearbox Ouler Gear 1
77 | JB-48 HE® | Belt Pulley | 2
76 JB-47 B Balt Pulley 2
75 JB-46 A shipwEl Big Driven Puley Pad Aol I 2
74 6002K5 B002KS 12
73 32GB893-76 32GB393-76 12
72 JB-45 Kihie | Big Driven Pulley Pad Roll ¢ 2
71 | JB-44 |KMHBRRABR | sgbie i e hisigion | 2
70 ME® 8 M6 screw nut 1
69 JB-43 [V 38043 Elastic Fork Verical Column 2
68 JB-42 TR lawer ox localing block 1
67 MEF §T M screw 3
66 MBF & M screw nut 1
65 JB-41 HEHI Pul Rod Il 1
64 JB-40 HEETEE Puil Rod adjusting screw 1
63 | JB-39 [TES sping 1
62 | JB-38 RYpmESL siiding bearing aloy 1
61 608RS T 508 RS bearing 1
60 | JB-37 ME% M6 screw 1
58 HFF Pull Fiod | 2
58 | JB-36 M6 & M8 screw nut 1
57 MBE & M8 screw 1
56 R Metor 1
55 MBF & M8 screw i
54 MET & W6 scraw 4
53 JB-35 MEF # M6 screw nut 1
52 pith R Shieid 3
51 MB¥F & MG scrow 4
50 MEH & ME screw 8
49 JB-34 M6F 8 MB screw nut 1
48 JB-33 ER IR miovabie bottom cover 1
47 JB-32 3] bottom cover 4
46 ERERS bettom covar fixed column 2
45 | JB-31 20GB94-76 20G894-76 2
44 JB-30 KRR Big pulley 21
43 B (TR 28 Paifol e wi 1
42 | JB-20 511048 % 51104 bearing 1
41 SIHTRRE  |vetical shall industrial bear 3
40 |TEEBAER|  6004-2HE 5004-2bearing
39 JB-28  |RAT2, TSHSXRBRER |deawmimpn Bomerteg venky
38 JB-27 e Smal Putiey 4
37 JB-26 R N uley 4
36 FRARE Vid-...6 Roll 2
35 | JB-25 ] hlt 2
34 | JB-24 KEBEHR Big Driven Puiley
33 || JB-23 BH Plastics 1
32 | JB-22 EREE movable chver pole 2
31 JB-21 REEERTR Fead-n baffle fixed block 1
30 JB-20 EEE Feed-in baffie | 1
29 | JB-19 INEEHSE small feed-in baftle 1
28 JB-18 | iSFHSIRIEE MR [Feed-in batfie |l fwed cover pole) 1
27 | JB-17 BB Pulley Shaht 6
26 JB-16 B small pulley copger famule 2
725 | JB=15 | /NEHRIRLE |smal puley sidepocket forie| 2
24 561128% 68112 bearing 1
23 JB-14 THAE Vertical colurnn inner-farmuie 1
|22 6005H KRS 6005 pearing B5 2
21 JB-13 [ Ol seal 1
20 JB-12 TEE Vertical column famule 1
19 JB-11 TR middle gear frame 1
18 | JB-10 Ttk lawer box 1
17 | JB-09 THRAEER Iower box fived plate 1
16 Ma¥ & M8 scraw nut
15 JB-08 T8l vertical shatt| 1
14 51105 A& 51105 pressurs bearing 1
13 6200RSH* 6200RS bearing 1
12 JB-07 Whie ausliary gaar 1
1 10GB884-76 10GB894-T6 1
10 JB-06 T vertical shaft | 1
9 JB-05 e _gear 2
[} JB-04 [T = pad roll (two kinds) 6/4
7 MeF & M8 screw 2
JB-03 THELE lower bax upper-cover 1
5 MEF & M6 screw 6
7 | JB-02 TR Goarbox 1
3 | JB201 TEM LS _gearbox Upper-cover 1
Z Ma%¥ & M8 scraw 4
T M5® & M5 screw 3
FE|E B &% 8
No | Figure No. Name Quantly

i

TS (=




